10.4 Translating Sine
and Cosine Graphs

Note: It says “10.3 Period and Phase Shift for Sine and
Cosine” in your copy of the notes
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Steps to graphing:
1. ldentify the parent function.
Determine the amplitude, midline, period, and phase shift.

Mark the midline and phase shift on the graph (this is your new x- and y-axis).
period)

Mark the 5-point pattern on the graph (
Sketch pretty WAVE.

L = N

(on pg. 16 of the notes)
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. The cosine function that has been J. Asine function with an amplitude of 3
translated 2 units down and 5 units to the and a period of%that has been shifted

left mid\ine’ ;Y 5 ¢ Q\\ﬂ% shift down 2 units and right 3 units
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